®) 400-6363-989

e B 5 M &

AF(WER)ETEDBRAS]

DARD {(SHANDOMNG) HEAVY INDUSTRY GROUP CO., LTD.

EERl LR AR T A e T 2 AR

Operations Center; 3rd Floor, West Tower, 'I1r:u|1uuL'_II.'-..'::.-;,III. Huaiyin District, Jinan City, Shandong Province
EFERE: LWESFTHRUESHETLEE RRRS

Production Base: No. 2 Guoyuan Road, Quanpu Town, Liangshan County, Jining City, Shandong Province

X 86-0537-7761196 Tel: 86-0537-TT51196

FH: 13181731880 Mobile: 1 JBAES]

{55 86-537-T761196 Fax: 86-537-T761196

Pahk: www.darengjbde.cn Web: www.darcaxle.com
BP¥S: daronpaxle@1b63.com E-mail: Lyle@daroaxle.com

AR(UR)ETEEBRAS

DARD (SHANDONG) HEAVY INDUSTRY GROUP CO.,

>t
)

LTD

‘

Eﬁfﬁﬂ e

FOCUS ON
HIGH QUALITY AXLE
MANUFACTURING "




Focus on High Quality Axle Manufacturing

02

06

07

08

3
I fE
Company Profiles
P02——PO03

03

R R

Enterprise Development History

PO4——PO0O5

04

05

I E R

Enterprise Qualification

PO6——PO07

irsEH
Enterprise Strength
PO8——P09

Laboratory
P10——PT

®
M m
Axle Products
P12——P41

13 FmESAN
Product numbering rules

14  BRAEHRRT

Disc axle series

16 =XEHFRT

American axle series

18 SEEHRT

External axle series

20 EXEHRT

German axle series

22 RBIPEHRRT

Maintenance-free axle series

24 EXEHRT

American axle series

26  EXEHRT

German axle series

28 RFEREMHRT

Low flat axle series

30 ZHESNHENRT

Three-line six-axle axle series

32 8T FEHHRTI

8T axle series

34 6T EHF&RT

6T axle series

36 3T EH=HARY

3T axle series

38 BERRERT

Single point suspension series

40 THEEERY
Alr suspension series

AR

Axle Accessories
P42——P44

09

-
SHERE
Suspension Device

P45——P61

10

SHELRH

Suspension Accessories

P62——P65

11

XgEE

Support Device
P66—P74

12

BERHY

Trailer Accessories

P75—P84

HERE

Sales Network

P85




ARED

RUEA

COMPANY
PROFILES

4] 2001 fh 60000

dith

2 www.darongjixie.cn

1S09001

REERERINE

e

70000

PR

LESmRENTIE
Focus on High Quality Axle Manufacturing

KR (LK) ETEABRABR—REMUNBAEEMRSEHALGISE, R TIL - +RE, TBITE ‘PR,
Wit £ HE. RS 2, ABSBATLWARRL, 2EMERL 60000m’,

Shandong Darong Machinery Co,, Ltd. is a global R&D manufacturer of commmercial axles and parts. It has been
deeply involved in the industry for more than 20 years and has completely established the entire supply chain of "R&D,
design, production, sales, and service". The factory is located in Shandong Liangshan with a total area of 60,000 square
meters.

DREERRE, AR (WAR) ELEABREKREZOUSHERALR, (EBEMEA, RAEHEEMES, UER
MBHTRITI, ITSERNERE. BEBR, ARWBTHRAR 0 R, WEEFE M. FHSK. BMER. EER
HEFEZRY, RIKI1S09001 FREBEEAERINE, WITHLURESHEATI,

Promoting development through science and technology. Daro has always focused on the transformation and
upgrading of its core business, relying on independent research and development to further promote intelligent
production and enhance its technological advantages. Up to now, the company has obtained more than dozens of
patented technologies, covering trailer axle beam, axle assembilies, special type axles, trailer accessories. It has gained the
ISO9001 quality management system certificate and was rated as a high-tech enterprise in Shandong.

UBIEm Mz, ARVMIES 32000 mAT &L EIE,
g BB RET L, sIHBSBERKRMNEE, MIEHRT
IATF16949 B AR, ABARTWRIBIER, 3¢
FmREREEX, FNFEMENIREE], W™ mRE.
HESEIMMHETRGEEIRE, ROREFRARE. A
BFEFEXEFEFM. RN EERG 170000 R, #H
EMBBEE2E, HIEF2IK 50 2 MERTHIK,

Winning the market with quality. Daro has built
a 32,000m? standardized workshop, equipped with
automated intelligent production lines and exquisite
quality inspection instruments, and strictly implemented
the IATF16949 quality system standard. The company
has established a professional quality inspection team to
make sure each detail to be perfect s. Meanwhile, it has
set up a finished product testing workshop to conduct
extreme tests on product strength, toughness and
other properties to fully guarantee quality. The company
annually production capacity is 170,000 pieces including
various types of trailer axles, axles, and trailer accessories.
[t has national sales network and internationally radiates
more than 50 countries and regions.

KK, RRNMAERIRDS “GlF. HiE. Z6a. 7
W HZ" OFARER, RBUBWZOBEIEE,
mEUFE / RS SREL, FEhetahtias
. B, MIRSWEAEMIEBE IR,

In the future, Daro will actively cater to the new
development concept of "innovation, coordination,
greenery, openness and sharing', strengthen the
construction of corporate core capabilities, promote
the strategic transformation into an innovative/service-
oriented enterprise, and continue to export high-tech,
good products to the whole society. Comprehensive
commercial vehicle power solutions with high quality
and excellent service.

www.daroaxle.com 3




PR FE

DEVELOPMENT

HISTORY

FEFE—PE
Bz —,

Liangshan Daro Transportation Machinery Co, Ltd.

RUARRZBIMERABMRIL, 2EA
R EHEEENG

KR mlRF @ 1IS09001 REE
BERINE KRBT FTH
TENEFRNA” | TEBREBRPBU .
Daro's has successfully obtained ISO9001

quality management system certificate,
and the company was rated as "Jining City

NEFAREBEARE
W, EFERIEL, &%
T ERIRF=AEHT AL
HIZRAN, FRARTIEF
B EREDE,

The company's production line
equipment has been upgraded
and innovated again, production
has moved towards large-scale
production, and a number
of independent intellectual
property rights have been
invested in new technologies
and new processes. The product
series is richer and iteration is

was established in 2001 which was the first semi
trailer axle manufacturer in the vehicle production

Safety and Civilization Unit" and "Consumer
Satisfaction Unit"

faster.

base of China.

plole]

REVEFE. FRER. HEMF
H—FEE, HEIKRAHELE,
FE—AXMEE~RENMHE
R,

The company's production department,
quality inspection department, and
sales department have been constantly
improving and a technology research
and development department has
been established to start the research
and development and experiments
of integrated shaft tube production

2005 2006

equipment.

NE—FHEE G &G,
KRRAARLERE— A HEDN
b,

The company's integrated shaft tube
production equipment was successfully
developed, and Darong became the first

company in Liangshan to mass-produce
integrated shaft tubes.

www.darongjixie.cn

2008 2009 2010 2012 2013

EFAEEEN, BIMELSFE,
HEHIEREFIEF. RERFT
ITEEET IR REMS,

The production line was comprehensively
reformed, standardized workshops were
established, and refined production
operations were promoted. The company
was awarded the honorary title of "Five
Good Chambers of Commerce" by Jining
Federation of Industry and Commerce.

REARRE, HEFDE 30% A
FEEEH, RNBIEIHERERL,
Eit & g £ HE RS
er TR TR,

The company has increased its research and
development efforts and invested 30% of its annual
profits in independent innovation. At the same
time, it has established a professional after-sales
team. At this point, the entire industry chain of
"R&D, design, production, sales, and service" has

O beencompletely opened.

NERIK ABREEEETERE
" REMS,
The company won the honorary

title of "Class A Contract-abiding and
Trustworthy Enterprise"

KRR mEHE], FnAEIEM.
PARSMXANITER, KREIKWAE
HFE.

Daro's products went abroad and began to
accept orders from Africa, the Middle East
and other regions. Darong's globalization
strategy was launched

2014 2017

NERZEPERMIL, FRZES
Al &R RAOHBHE.

The company's party branch was formally
established, opening a new situation
in which party building leads the
development of the company. o

{ I =%2mnd, sINSHRR
BRI ENER RS, Frfek
170000 #fo

The factory production line has been
fully upgraded, and high-precision
quality inspection instruments and dual-
host molding equipment have been
introduced, with an annual production
capacity of more than 170,000 pieces.

2018 2019

RENVSHUET K, ETE~RMER.
FIENESR. RE. XMEELME
f, FREENEER2E 31 MEHR
173 N ) N 2V SN S N ) N
HEFRFME,

The company's business scale has expanded, and
its main products range from axles and axles to
suspensions, leaf springs, outriggers and other
accessories. The product sales network covers
the country and countries and regions in Asia,
Europe, Latin America, the Middle East, Australia,
Africa and other countries, o

AEEEN LEEH
WRAREW” o
The company was rated as

"Shandong Province High-
tech Enterprise"

LESmRENTIE
Focus on High Quality Axle Manufacturing

RREEBINEE “CUF. 1hiE. K&,
. HE SOMRBRES, BdliZt
BENEIR, BEhetsBtERK. B
B ARSI S U RE RS o

Daro Group will actively cater to the new
development concept of "innovation, coordination,
greenery, openness and sharing", strengthen the
construction of the company's core capabilities, and
continue to provide one-stand commercial vehicle
power solutions with high technology, strong quality
and excellent service to the whole society.

o

2021

2022 SR

NENRFET 1S014001 IR BIRA R
1S045001 BRI @R Z 2 BIBIARINE, =
I, KRERISO “=5—" BEAARRITIA
TR 5. BE3 A, FriEEsd
DAL, 88, KR (LK) EFRESER
NENEMAAL, FHidd SGS AEIAIE.

The company successfully passed the 1SO14001
environmental management system and 1SO45001
occupational health and safety management
system certification. At this point, Daro ISO "three-
in-one" management system implementation
certification work has been successfully completed.
In March, Jinan Operation Center was established; in
August, Darong (Shandong) International Trading
Co, Ltd. was registered and established and passed
SGS authoritative certification.

www.daroaxle.com 5




Focus on High Quality Axle Manufacturing

BUER

COMPANY
QUALIFICATION

) R BEZSEIEEARINBIED ccupational health and safety management system certification
) REEBAERINEIED ) Quality management system certification
) MIREBRAERINEIED nvironmental management system certification
WAREBEMEAR igh-tech enterprises in Shandong Province
) A REERIFERR ) A-level enterprises that honor contracts and keep promises
THBRERE R onsumer satisfaction unit
) RENERP afe and civilized unit
FTH LERKAFES ) Jining City Federation of Industry and Commerce Wuhao Chamber of Commmerce

www.daroaxle.com 7

.darongjixie.cn




RS

COMPANY
STRENGTH

ERAEELR, —HRENERINR, 2— P EUNEE,
B—RERER, B—IZ28W, 2S8R
&, ER—1rpvktt.

Thin hair can only be thick. More than 20 years of
experience accumulation, is an enterprise's focus,
is a kind of quality interpretation, It is the soaring
of a process, the guarantee of a strength, and the
condensation of an industry.

8 www.darongjixie.cn

LESmRENTIE
Focus on High Quality Axle Manufacturing

BT mBEE
Control Details Excellent Quality

NEWE TGS, RIFMEFE—, MNEMEFTREIMGEE, £ IB8 N sEr, REL FaatsE,
The company implements a quality strategy and insists on quality first. From raw materials to finished products, every link of
the production process is strictly controlled to ensure the qualification rate of factory products.

BETRE =SeerH
High Energy Output of Heavy Equipment

NEIRAEMFNEFIEE, £r2a 88 NEMEREE RSN TN B ErF=8E ], BURREREFRKEERE
BRI,
The company adopts international production equipment, and the entire production line has automated production capabilities

from raw material placement to finished product processing. The spray painting and axle production lines have reached
intelligent automation.

www.daroaxle.com 9




B RS
LABORATORY

RE+ B
Precision + Specialty

TIHEZTZRFENRQHEL, BB SHEEME.
FRehrEidedl. EHERNE. Aoy, BEEET. #HR
il HERBNEFENN. BRENILNIIRE, TERT TENER
M FMm. R MEREEANE L,

We have specially set up an experienced quality inspection team and invested
in automated and intelligent spectrum detectors, metallographic microscopes,
universal tensile testing machines, fatigue testing benches, impact testing
machines, Rockwell hardness testers, magnetic particle flaw detectors, salt spray
testing machines, etc. Professional testing equipment has formed a complete
performance testing and evaluation mechanism for raw materials, semi-
finished products and finished products.

10 www.darongjixie.cn

EiEmmBRERTIE
Focus on High Quality Axle Manufacturing

T SAREF A
Metallographic Sample Grinding and Polishing Machine

TR EREET AT HIEBF R ReR e 1
Rockwell Hardness Tester Microcomputer Controlled Electronic Universal Testing Machine

RO T

Impact Specimen Notch Projector

A& T HIROENT
Impact Testing Machine Direct Reading Spectrometer
www.daroaxle.com 11




2t

=

o
£

S
1
al

| 4t

mi=m L EEBRRETHLS
0O GROUP ocus on High Quality Axle Manufacturing

FoiRs / AN
PRODUCT NUMBERING
RULES

HIEhas R~
iR Brake Size
Axle Form —
420*180 &) Drum Brake: 01
150 75%H FA 420*200 & Drum Brake: 02
150 square shaft FA 420*220 &3 Drum Brake: 03
127 P FB BT 311*190 & Drum Brake: 04
127 square axis FB Tire Form 420*125 &#) Drum Brake: 05
120 7?&33 FC 400*155 &# Drum Brake: 06
120 square axis FC iﬁé} S g A 320:95 aiji Drum Brake: .07
127 [El4d YA Single Brake Drum Form 400*125 &%/ Drum Brake: 08
127 round shaft YA AR T 4207150 &I Drum Brake: 09
146 [F4H YB Twin HE N nEfflJ Disc Brake q>375:453 81
146 round shaft YB Builtein #23 Disc Brake $430*45: 82
95 [=3H YC SR W
95 round shaft YC External
108 [E%h YD A3 P
108 round shaft YD g}ﬁ/’fﬁﬁ E)nisc Brake
Hk=E .
76 EIE VE Max.Capacity
76 round tube YE
102 B YF A
102 round tube YF

T
B T .

e mmmm e e

AR S
Bearing Type
=k ]| A:HM518445/10-HM518445/10 g2 FER RS
B:HM518445/10-HM220149/10 Wheel Bolt Pattern and Distribution
Product Category C:HM518445/10-32222
£t A DV DAL A AL L 01: PCD=335; H=281; ISO ##% Bolt 10-M22*1.5
e TSI, 02: PCD=335; H=281; ISO #1% Bolt 10-M24X 1.5
i o = G AL S 03: PCD=225; H=176; ISO #42 Bolt 10-M22X 1.5
EOFHEH, REBEES, T Sl : PCD=285.75; H=221; ISO #2#% Bolt 10-M22X 1.5
ZHAREN—BRRESHE, RATEMNLTORN, Tt C 5‘;23221153302621159 - : PCD=285.75; H=221; ISO ## Bolt 10-M20X 1.5
RUTIRIE], TS, TRUFEH, FURHER. KRS, BRI O, China el © PCD=275; H=221; ISO 42 Bolt 8-M22X 1.5
#RHIEh D L'.30615(_7815E) 30615(7815E) : PCD=285.75; H=221; ISO #£#£ Bolt 10-M27 X 1.5
Craftsmanship creates classics, quality creates legends. Disc-Brake , : PCD=222.25; H=162; BSF #4% Bolt 6-M20X1.5
i I e Sl : - i : AL 25D : PCD=222.25; H=162; SO 42 Bolt 6-M27X 1.5
More than 20 years of continuous humility and enterprising spirit represent Dairong’s full devotion to creation. M= U N:32314-33113 . - £, M= ) £ BO .
Keep asking questions, keep searching, keep researching, and keep introducing new things. Recessed ’ : PCD=275; H=221; ISO 4% Bolt 8-M20X 1.5

Never stopping is our practice of innovation. HMT

Other

www.darongjixie.cn




)'IR AFRED EHERRERIE

Focus on High Quality Axle Manufacturing

BIFH / Rl

BRASHR
DISC AXLE PARAMETE
" BRI IEEE
S E R I ES TEME  MEAE  2XFEhEE  IREREROE N Wheel Fixing SKEOL EERE
RS VEYS Axle Beam EHfE X ®E Spring L) Total
: . . Track Recommended
Model Capacity Size Disc Brake Centre Tyres SEIEIER Length
. (mm) LE Sz in P.C.D H Wheel
(1) (mm) size(mm) (mm) Studs .C. l (mm)
il (mm)  (mm)
DITYAAQ1P82 9 127 $430Xx45 900 1840  Twin 10XM22X151SO 335 281 ~ 2180 9.0X22.5
ZE /LAY 71 i ~

515“:121-'- hgﬁﬁ;n D10TYAA01P82 10 $127 $430X 45 900 1840  Twin 10XM22X151SO 335 281 2180 9.0X22.5
Lightweight design and super load-bearing capacity _

D10TFBAO1P82 10 127X127 $430X45 900 1840  Twin 10XM22X151SO 335 281 ~ 2180 9.0X22.5
o HEFR REARSUMENEME, 79T HER, D10TFAA01P82 10 150X150 $430Xx45 900 1840  Twin 10XM22X151SO 335 281 =~ 2180 9.0X22.5
® BV RE —— RN EEhIoEE, MESEHRER,

RuhdEREE s FRAEEREE, AMEFEER D13TFAAOLPS2 13 150150  (p430X45 900 1840  Twin 10XM22X151SO 335 281 =~ 2180 9.0X22.5

o HERFER — LN TR, RSEEWE,
© BEEMMIBR AR — RS EMEANINIERE, TURSIMLT. DISYAAD1P82 9 127 430X 45 900 1840 Single 10XM22X151SO 335 281  ~2180  11.75X225
o Lighter weight D10SYAAOLPS2 10 $127 $430}45 900 1840  Single 10XM22X151S0 335 281  ~2180  1L.75X225
——Using lightweight materials and accessories to fully save fuel and increase efficiency.
e Better heat dissipation performance D10SFBA01P82 10 127X127  $430X45 900 1840  Single 10XM22X15ISO 335 281 ~ 2180 11.75%22.5
——0One-piece alloy brake disc with fast heat conduction speed.
¢ Convenient maintenance D10SFAA01P82 10 150X150 $430X45 900 1840  Single 10XM22X151SO 335 281 ~ 2180 11.75X22.5
——Simplify maintenance procedures and improve operational efficiency.
* Overall heat treatment technology DI3SFAAOIPE2 13 150X150  430X45 900 1840 Single 10XM22X151SO 335 281  ~2180  1l75X225

——Improves the overall mechanical properties of the axle and has good fatigue resistance and toughness.

ailable
ication are reserved

14 www.darongjixie.cn www.daroaxle.com 15




ET\EFH / R

AMERICAN AXLE
SERIES

FRey REA

Cost-effective and durable

e BERE —iigit, MMAMRERRIE TRIEENL, 58 13T ZEHE 330kg.

o REIM A ——AAALRE, RERAYES.

o MITHEEES —HolBfobaEEs, BHETR, A, T, ®RE.
® IFIRIEM 38— B IR BUIRRILRENI, AEENE RRIERIT R,

® \Weight reduction

——optimized design to achieve lightweight without sacrificing strength. The standard 13T axle only weighs 330kg.

® Strong and durable

——one-piece hot-rolled molding, resistant to bending, torsion and fatigue.

e Higher machining accuracy

——the brake shoe and brake drum fit more closely, the output is more stable, and brake jamming, setback and eccentric wear are
eliminated.

® Strong environmental adaptability

——through strict extreme performance testing, it can adapt to complex usage environments.

16 www.darongjixie.cn

LESmRENTIE
Focus on High Quality Axle Manufacturing

T REEERLE HHSER O et i BKE OL :
= VEMBT meamie  $izhEs SPLER IR AL e Wheel Fixing IR EARIHE Bearing
s Max. Spring Center ) - ———
Model Capacit! AxlelBeamiBIake Centre distance of Track Tyres 5 Length Recommended
”T Y size (mm) harD (mm) Y R PCD  ¢H g Wheel & ShaR
M (mm) chamber(mm) studs(mm) (mm) (mm) (mm) (inner) (Outer)

- 10XM22X15

AIOTFAJO4NO5 10 150X150 $420X125 > 990 490 1820 Twin 10 28575 221 =~ 2215 > 7.5V-20 32219 30615(7815E)
- 10XM22X15

AI2TFAJOANO6 12 150X150 (420X155 > 940 490 1820 Twin 56 28575 221  ~2155 > 7.5V-20 32219 30615(7815E)
- 10XM20X15

AI3TYAAOSNOL 13 ©127  $p420X180 =950 368 1820 Twin 10 28575 221 ~ 2165 >75/20  HM518445/10 HM518445/10
- 10XM22X15 ~

AI3TYAAOINOI 13 0127 $420X180 =950 368 1820 Twin 6 335 281  ~2165 > 7520  HM518445/10 HM518445/10
- 10XM27X15 ~

AI3TFAJOTNOL 13 150X150 420180 > 940 490 1840 Twin 10 28575 221 =~2115 > 7.5/-20 32219 30615(7815E)
- 10XM20X15 ~

AI3TFAAOSNOL 13 150X150 420X180 =940 390 1840 Twin o 28575 221  ~2185 >75/20  HM518445/10 HM518445/10
- 10XM22X15 ~

AI3TFAAOINOL 13 150X150 420X180 =940 390 1840 Twin 10 335 281 =218 >75/20  HM518445/10 HM518445/10
. 10XM22X15 ~

AL4TFAAOINO3 14  150X150 420X220 =940 350 1840 Twin 6 335 281 =218 >75/20  HM518445/10 HM518445/10
- 10XM22X15 ~

AISTYABOINOL 15 0127 $420X180 =940 396 1850 Twin 50 335 281 = 2200 >80V-20  HM220149/10 HM518445/10
- 10XM22X15

AISTFABOINOL 15  150X150 ¢420X180 > 940 396 1850 Twin 56 335 281 ~2200 >80V-20  HM220149/10 HM518445/10
- 10XM22X15

AL6TYABOINO3 16 0127 $420X220 =940 354 1850 Twin 10 335 281 A~ 2200 >80V-20  HM220149/10 HM518445/10
- 10XM22X15

AI6TFABOINO3 16  150X150 420X220 =940 354 1850 Twin 56 335 281 ~2200 >80V-20  HM220149/10 HM518445/10
- 10XM24X15

A20TFACO2NO3 20 150X150 ¢420X220 > 940 354 1850 Twin 10 335 281 ~2270 >85V-20  HM518445/10 32222

AJSTFAEO2NO3 25  150X150 9420X220 > 940 340 1850 Twin 10”@3“'5 335 281 ~2230  >85V20 3202 3202

ptional tr
prional A
ights of chang

lable.
ification are reserved.

www.daroaxle.com 17




KESEE BASMmBRESRSNSE
m 2 5 m@ Focus on High Quality Axle Manufacturing

IWEZER / R _
OUTBOARD AXLE R AErER

- BRI IER B
= IREE  HIENSEROE - " :
S E R I ES R AHEME #1592 ey T %S s Wheel Fixing BEEOL EeE Bearing

Max. Axle Total

Capacity Beam Recommended

Brake  Spring  distanceof Track

L 0}
) Size (mm) Centre chamber (mm) g TEiEIe PCD ¢H ::eq) Wheel PR HhiE
(mm) (mm) studs(mm) (mm) (mm) (inner) (Outer)

10XM22X1.5

ALOTYAAD4WO1 10 $127  420X180 > 940 390 1840 Twin <0 28575 221 = 2180 >75V20  HM518445/10 HM518445/10
W — i i
i < =gt =
HIREEE EENES AISTYAAOAWOL 13 127X127 0420X180 > 940 390 1840 Twin lOX“l"S%Xl'S 28575 221 ~2180  >75V20  HMS518445/10 HM518445/10
Maintenance is easier High operational efficiency
- 10XM22X15 -
AL3TFAAOAWOL 13 150X 150 420X 180 = 940 390 1840 Twin <0 28575 221 = 2180 >75V20  HM518445/10 HM518445/10
o HERFTBFERE—— THIFHRR, NEASSIGER. £BEHE, Lol
v R Y N . ALOTYAAOIWO1 10 $127  $420X180 > 940 390 1840 Twin 2 335 281 ~2180 >75V-20  HM518445/10 HM518445/10
o ZFMEE—HNLES, BUOMIHERE, NESEERAEME. IS0
o BREERE—T&QN + ATHRK, WMERREMEFETIANE, 10XM22X 1.5
. . e L N AL3TYAAOIWOL 13 127X 127 ¢p420X180 = 940 390 1840 Twin o T 33 281 =218 >75V20  HM518445/10 HM518445/10
® IFIRIE RN M08 — @ AR IR PR LRI, BEIEN 8 HHIERIF R,
- 10XM22X15 -
AI3TFAAOLWOL 13 150X150 p420X180 > 940 390 1840 Twin e 335 281  ~2180 >75V20  HM518445/10 HM518445/10
® Maintenance is more convenient
——There is no need to disassemble the wheel hub, and the replacement and maintenance of brake pads and other parts are ALATFAAOIWO2 14 150X150 $420X200 > 940 370 1840 Twin 10><h|/\52£><1_5 335 281 ~ 9180 > 75020  HMS18445/10 HM518445/10

more convenient.
® More economical

—Higher cost performance, reduced fuel consumption and overall vehicle cost savings. AISTFABOIWOL 15  150X150 420X 180 3 940 400 150 Twin OXNE2XLS 335 581 ~ 2200  >80V20  HM220149/10 HMS18445/10
® Quality is guaranteed

——Online testing + manual quality inspection to ensure that the quality strictly complies with industry standards.
® Strong environmental adaptability

——Through strict extreme performance testing, it can adapt to complex usage environments.

AI6TFABOIWO3 16 150X150 $420X220 > 940 360 1850 Twin 1ONEZXLS 335 081 ~2200  >80v20  HM220149/10 HMS18445/10

able
cation are reserved

18 www.darongjixie.cn www.daroaxle.com 19




WI\ER / R

GERMAN AXLE
SERIES

TREDSE TiAEIZ
Stable and reliable, energy-saving and efficiency-increasing

o EEFR —XA—MIAMRMaETENE, EEFE, MR,
o HEntRE S —RIEhTIR, T2rf, AIREMERET.

o ZFHL—HFEEM. BIRE/, MNE.

o BEFES —NIM. MEE. MEZBESFREME™ AT,

e Lighter weight

——Made of one-piece high-quality low-alloy seamless steel pipe, it is lighter in weight and has excellent performance.

® Excellent braking performance

——Smooth braking, safe and reliable, and good thermal stability.

® Economical and worry-free

——Lower fuel consumption, less tire damage, and high cost performance.

e High strength and toughness

——Rigidity, wear resistance, fatigue resistance and other safety properties strictly meet the standards.

20 www.darongjixie.cn

BE ST
Max

Ca pac}ty
(m)

HEME
Axle Beam
Size

TR E=E
Il
Spring
Centre
(mm)

Hzhes
Brake

HEISE
R

it

Center distance Track

of chamber
(mm)

(mm)

LESmRENTIE
Focus on High Quality Axle Manufacturing

BRASHR

RRILPER

Wheel Fixing Bearing

P EACE
Tyr:s " Recommended
S Wheel  pysi shaik

(Srtr:jnii (Inner) (Outer)

GL2TFAFOINOI 12 150X150 ¢420X180 > 940 420 1840 Twin 10% |\|/|52(%X145 335 281 ~2150 >75v20 33118 33213
GI3TFAFOINO2 13 150X150 420X200 3900 360 1840 Twin 1ONW2XL3 335 081 ~2150  >75v20 3318 3313
GL4TFAHOINO2 14  150X150 $420X200 > 900 360 1840 Twin 10% “{'525“-5 335 281 ~2200 >80V20 32219 33215
GI6TFAGOINO2 16  150X150 (420X200 3> 900 360 1850 Twin 'ONM2XL3 335 051 ~2080  >80v20 32222 32314
GISTFAGO2NO3 18 150X150 (420X220 > 900 380 1850 Twin 10NEXDS 335 gg1 ~2080  >sova0 32222 32314

signand s

adjuster available.

“ation are reservec

www.daroaxle.com 21




KESEE BASMmBRESRSNSE
m 2 5 m@ Focus on High Quality Axle Manufacturing

RGP ZER / R

: RARSHER

ETE

FEHnE %5 ezl W $15h38 sefziRi S%HE  POILER
AXLE S E RI ES Max. CaJpacity Wheel Track Center Distance of Axle Tube Brake Studs P.C.D Hole Diameter

Brake Chamber

(m (mm) ) (Wl (mm) (mm) (mm) (mm)
DRGA10.2  22500LBS/10.2T  71.5"/1816mm 365 127 ®420X180 10XM22X15  B285.75 220
DRGA10.2  22500LBS/10.2T  77.5"/1968mm 365 127 ®420X180 10XM22X15  B285.75 220
g — e I DRGA10.2  22500LBS/10.2T  71.5"/1816mm 365 127 ®420X180  10XM22X15 335 281
ET \
EizE BLNEEH
Efficient operation saves worry and money .
DRGA10.2  22500LBS/10.2T  77.5"/1968mm 365 127 ®420X180 10XM22X15 335 281
o RAFAK—REEURARER, RFRAPENIEK, TZENEES, DRGA13.6  30000LBS/13.6T  71.5"/1816mm 365 127 ®420%180 10XM22X15  ©285.75 220
o FRAEMK—FaNNIENBE, #iFci1es, EKEREN.
O HEEERTE—FEMEHETES, REEMEKNBEXEE, BLFES . DRGA13.6 30000LBS/13.6T  77.5"/1968mm 365 ®127 ®420X180 10XM22X15  $285.75 220
® . ong maintenance cycle DRGA13.6 30000LBS/13.6T 71.5"/1816mm 365 ®127 ®420X180 10XM22X1.5 ®335 281

——eliminating cumbersome maintenance procedures, the maintenance cycle is effectively extended, and the operation efficiency
is higher. DRGA13.6  30000LBS/13.6T  77.5'/1968mm 365 $127 ®420X180 10XM22X15 335 281
® | ong service life

——higher stiffness and precision, safe operation and extended service life.

® More stable performance

——higher vehicle attendance rate, ensuring long-term efficient operation of the vehicle, saving worry and saving money.

DRGA13 13T 1840mm 365 150 ®420X180 10XM22X15 ®335 281

on are reserved.

22 www.darongjixie.cn www.daroaxle.com 23




ET\EFEH / RSl

AMERICAN AXLE
SERIES

—THE REENEE

Integrated shaft tube with strong load-bearing capacity

® XM 20Mn2 BREEELENE, FmhBEARE.
® KERE R, REFWMKNEBREE,
o EEFRMNMTHHAES, 2BETAEM. FEW.

® Using 20Mn2 high-strength alloy seamless steel pipe, the product quality is more reliable.
e Strong load-bearing capacity ensures efficient operation of the vehicle for a long time.

e |t has stronger bending and torsion resistance and does not bend or deform under high strength.

24 www.darongjixie.cn

2l
Model

EE B

HE R

Max.Capacity Axle Beam

(T)

Size

PR R~

SMBAMRT

Inside Bearing Outside Bearing

Position

(mm)

Position
(mm)

PRAFIAG
Screw Thread

TEEmRERIE

Focus on High Quality Axle Manufacturing

BRASEHR

Hh7A(EIEE
Bearing Spacing
(mm)

AL PA 1ETERS

XF R YR EE
Corresponding
Track Width  1°%3
(mm)

BK
 Length

(mm)

A9ITYAA-BW 9 ®127 88.9 88.9 3.48"-12 UNS-2A 1644 1840 2108
A10TFBA-BW 10 127X 127 $88.9 ©88.9 3.48"-12 UNS-2A 1644 1840 2108
A13TFAA-BW 13 150X 150 $88.9 ©88.9 3.48"-12 UNS-2A 1644 1840 2108
A16TFAB-BW 16 150X 150 $99.9 ©88.9 3.48"-12 UNS-2A 1644 1850 2128
A20TFAC-BW 20 150X 150 110 88.9 3.48"-12 UNS-2A 1699 1850 2173
A25TFAD-BW 25 150X 150 110 110 M110*2 1668 1850 2180

ilable. e
ification are res
www.daroaxle.com 25




KESEE BASMmBRESRSNSE
m 2 5 m@ Focus on High Quality Axle Manufacturing

DARO GROUP
——

mI\ZEH / R

GERMAN AXLE
SERIES

S PRSI NALR SRR B X[z BYFE EE B

B T
Max.Capacity Axle Beam
(T) Size

Inside Bearing  Outside Bearing
Position Position
(mm) (mm)

Corresponding
Track Width
(mm)

Total Length
(mm)

Screw
Thread

GI2TFAF-BW 12 150X 150 $90 65 M52*2 1840 2116
=gz e &k (b
EEE MHaEMRE
Stable, lightweight and excellent performance
G14TFAH-BW 14 150X 150 95 ®75 M60*2 1840 2156
e E5FH, REMEET.
] G16TFAG-BW 16 150X 150 $110 ®70 M60*2 1850 2192
o MRAARZ L, ANEMSE, BEMA.
® HIEhREL, HIMILEELF, FEERE,
GI8TFAG-BW 18 150X 150 $110 ®70 M60*2 1850 2192

e | ighter weight and better stability.
®The axle beam is not easy to bend, the bearing capacity is more reasonable, and it is strong and durable.
® |t has sensitive braking, good mechanical properties and stable thermal energy.

vailable.
specification are reserved

26 www.darongjixie.cn www.daroaxle.com 27




)“(7k§ﬁE£EJ EHERRERIE

Focus on High Quality Axle Manufacturing

IRFRZEH / R

GERMAN AXLE
SERIES

BARASHE
PARAMETE
o HEE R EEE R
n = e Wheel Fixin KR Bearin
EINMEMER REHEE TEHE  mems mms ol OE s BEEOL  smum §
. AxleBeam Brake Spring A Track |
. . oy C t A dist L th

Low center of gravity, heavy load resistance and greater stability WYY size (mm)  Centre AN (mm) EEgE  PCD OH  (ma) . A

(mm) (mm) Studs(mm) (mm) (mm) (Inner) (Outer)

o HEL BERE—RITLANEARTREFZHERER, E0SEEMN, THRELES.

- 10XM22X15 6.5-15
I . - = - AL1TYAAO3NO4 11 127 $310X190 =950 250 1850 Twin 225 176 =~ 2160 HM518445/10 HM518445/10
@ EENEER —XASRETRME, MALIHHRINELE, BEFS, TEMEIAHTER, IS0 6.75x17.5
o “—I” MARLE—BALS A IBEHE, ENREMR, MEHnES.
® ML R — 865 CHRIIA 80 CIREAE, BREREENRRA, BENEIVAT, vt o
ALLTYALO6NO4 11 127  $310X190 =950 360 1850 Twin o 215 221 ~2160 Y. HM218248/10 HM218248/10
o Low center of gravity and more stability
——The design is fully integrated with the transportation requirements of a low-flat trailer, with a lower center of gravity and better
transportation stability. 10X M2X 15 6515
e Stronger load-bearing capacity AL1TYADO3NO4 11 127 $310X190 =950 400 1850  Twin o T 25 176 ~2160 o230 HM218248/10 HM218248/10

——Made of high-strength alloy raw materials, the shaft body has been specially thickened to achieve higher strength and is
perfectly capable of bearing load requirements.

® "One-piece" shaft manufacturing

——replacing the traditional "three-piece" welded shaft, which is more sturdy and durable, resistant to bending, torsion and fatigue.
® The performance is more outstanding

——865°C medium frequency quenching + 480°C heat preservation treatment, high strength and stable tempered sorbite, and
both strength and toughness meet the standard.

28 www.darongjixie.cn www.daroaxle.com 29




= 57VHZER / R

THREE LINE SIX
AXLE SERIES

SRSGEHEEEREW

Special axles for heavy-duty cargo trailers

o EHNBE —XASRESTIRENEME, AFFLA 80T,

o EAGHK—IIMERSR, SMER, ReFMRE, TEKERSFM.

o REMA—EASRE. SREMA, KMILRE, HEERSR,

® RERIFI/N—FMRIRE, B ONRBRENER, JULER, ERTKEREH.
® MEHHl —MRTZ T, ANBEMEHE,

® Super strong load-bearing capacity

——Using high-strength alloy thickened steel tube shaft body, the load-bearing capacity can reach 80T.

e L ong service life

——Mechanically connected suspension, simple structure, improves axle strength and extends service life.

e Sturdy and durable

——Using high-strength, high-precision bearings, long-lasting low rolling resistance, and more reliable performance.
® The road surface is less destructive

——There are many tires on the axle, which reduces the pressure on the road surface. It can be used on highways and is suitable for
long-distance transportation.

e Bending and torsion resistance

——The axle beam is not easy to bend and the load-bearing capacity is more reasonable.

30 www.darongjixie.cn

BESH g . HHEER

Max. r
[T E1d14% W(i'g?t Bearing

(T)

=755k
Three Lines and 80 3000 518445 225
Six Axle

Steel Ring
Middle Hole

LESmRENTIE
Focus on High Quality Axle Manufacturing

REEAL ey IMRE agpRy  EARY

BoltHole ~TheOffset g e Liningsine Brake Lining

(500 Distance (mm)

(mm) (mm)

®176 P26 137.5 ®311X910 ®840X235

www.daroaxle.com 31




Focus on High Quality Axle Manufacturing

)'IR AFRED EHERRERIE

8T Zilfy / &5

8T AXLE
SERIES

RASEHR

L PARAMETE
TZKR fE=Ehlf

Excellent craftsmanship, strong and durable

RRILHERE LS

= Wheel Fixing Bearing
pe  TOE gemm @8 RE BKEOL BRI
Mo:;_el Capac}ty Axle.Beam Brake  Track Tyre“s—TotalLength Recommended
o KEEME WA BETANE, NRSNEE. MESREETER, ) Size  (mm)  (mm) mEmie  PCD Wheel  pmm s

studs(mm) (mm) (inner) (Outer)

o FERFHK—FINPINEARBLTE, WLBETD, LR, B
o REMA——ANALRE, BE. IE. EEERDIKMT.
o {RBEERE —HIPFRFASLE, THUHE, AESUEREEE K. C8SYAL10NOS 8 127 400°125 1840 Single 1SO/8-M20*15 275 221 2150 19.56.75 30615 30615

e High-quality raw materials

——Selected high-strength seamless steel pipes provide a solid foundation for the strength and toughness of the finished product.
® | ong service life

——With the addition of medium frequency quenching strengthening process, the shaft head is stronger, stronger and more
durable.

e Sturdy and durable

——One-piece hot-rolled molding, fully up to standard in strength, toughness and ductility.

® More convenient maintenance

———Convenient maintenance saves time and meets the needs of high-efficiency operations.

C8TYAL10NO8 8 $127 400125 1840 Twin 1SO/8-M20*1.5 275 221 2110 19.5%6.75 30615 30615

adjuster available.

n and specification are reserved.

3l A

pric
O Rights of cha

32 www.darongjixie.cn www.daroaxle.com 33




Focus on High Quality Axle Manufacturing

)'IR AFRED EHERRERIE

6T Zilfi / &5

6T AXLE
SERIES

HEERE] HREERE

Super load-bearing capacity and easier maintenance SRS
i Wheel Fixi Beari
TERE  wems wms RE SeThane BREOL SRR earing
o BN/ — REMSNINELREE + CRSEMWE, WRRIGH, ARNAEBET Capacity AXIgBeam  Brake rack oo Total Length - Recommended
M Size  (mm)  (mm) wERE  pep ooy (MM Whee R MR
o ERAME—SRTEMEEY R, TREAEIEENEEITENM, studs (mm) (mm) (inner)  (Outer)

(mm)

o RERESE — [ RBERANERHITNL, REFFANERUTER.
o NITHES —BIEES S, BRIFBESES, BAFRZe%.

C6SYDMO8SNO7 6 $108 320"95 1840 Single BSF/6-M20*1.5 22225 162 1950 6.00-16/ETO 33110 32306
e Strong heavy-load capacity
——Using a unique thickened shaft body + low rolling resistance bearings and a twin-tire design, the load-bearing capacity is
greatly improved. C6TYDNOINOT 6 ®108 32095 1840 Twin ISO/6-M27°15 22225 162 2080 6.00-16/135 32214 33113

® Good universal performance

——Suitable for various trailer scenarios and can be used as chassis traveling mechanism for different equipment.
® Flexible configuration

——The axle can be processed according to the drawings to meet the differentiated needs of customers.

® High processing precision

——Automated standard production line, higher operating precision and improved product safety.

adjuster available.
sign and specification are reserved.

34 www.darongjixie.cn www.daroaxle.com 35




)'IR AFRED EHERRERIE

Focus on High Quality Axle Manufacturing

3T Filii / &5

3T AXLE
SERIES

BARSE#HE
L P/ \ETER
FTIDRIE EiREER
Lightweight, compact and more economical 53595%5&&#% Bsmfg
= & eel FiXing . earing
BEHE e wim Bl B
" le Beam Brake Recommended
. = N Capacity 53 . . Length
o HEEE LN, BERER, RHTEERE. (M) el EERE o on (mm) Wheel  omm  sham
= (P R s /N s N tuds t o

o ZFMEBR—UNILES, B UHYRE, BREABEMRLE. (mm) ) i) (o
o B4 TR —FREANEE, BOAFANEEHE, BEEWNE,
O EEFIESR— NI, MEE. MEFHREZ LM &R, C3SYCMO8NO7 3 $95  320°95 1840 Single  BSF/6-M20*15 22225 162 1950 6.00-16/ET0 33110 32306
e Lighter weight
——Single-tire structure, lighter weight, fully energy saving and consumption reduction. C3TYCNOINO7 3 ©95 32095 1840 Twin  ISO/6-M27°L5 22225 162 2080  6.00-16/ETI35 32214 33113

® More economical

——Higher cost performance, reduced fuel consumption and overall vehicle cost savings.
o Simplified maintenance procedures

——Replacement is easier, reducing user downtime and improving operational efficiency.
e High strength and toughness
——Rigidity, wear resistance, fatigue resistance and other safety properties strictly meet the standards.

36 www.darongjixie.cn www.daroaxle.com 37




KESEE BASMmBRESRSNSE
m 2 5 m@ Focus on High Quality Axle Manufacturing

DARO GROUP
——

EmZEE / R

STEERING AXLE
SERIES

EoiEdE XKIFussEigit

Precise steering and large-tonnage load-carrying design

I LRILIEEE ik

® HUVEEMIGIH— MG EE, BRENE e wEAE  wmE PoE i Wheel Fixing Bearing
o LU AMIHE —MELABBE 0Mn2 TENE, PHSRE. EREE. HESMEST. Model AxdeBeam  Brake - Center distance frack

ot et mes R e s (M 1€ (mm)  ofchamber (mm) @i ., WEA MR
o MEEBRE BT HRBMAENS, KEXDHE, REEHKNEOEREE. (mm) S ) (noer)  (outer

o . mm

® R Al —REE. A AOFSHETTES, PIrtiLidB ERERK,
® Professional structural design 20 150X 150X 18  420%220 1547 2540 0y 5&’ w15 335 280.8 32222 HM518445/10

——Simple structural design, more sturdy and durable

® Professional large-tonnage load capacity
——The shaft tube is made of high-strength 20Mn2 seamless steel pipe, which has better tensile strength, yield strength, toughness
and other properties.

lable.
cation are reserved

® More stable performance
——Through rigorous extreme performance testing, the failure rate is lower, ensuring long-term and efficient operation of the vehicle.

e Dimensions can be customized
——Parameters such as wheelbase and load-bearing capacity can be customized to better match the user's needs.

38 www.darongjixie.cn www.daroaxle.com 39




BREE /R

BOGIE SERIES

HERE HSiR/ EREEERE

Strong load-bearing capacity, small tire damage,

and more convenient maintenance

® EH IR —EMILT, AIRRAIRTY

DIERRENEM L, AFDKER .

® WRRES N —— 1T EP RN S AR BR B EFBRIEE, ERKIERERS M.
o REMRF—RMEMEL, AAFRRIRE), TERBEIERAIEE,

o MMLES —WEESR, FIEMAKR, RET

® Super strong load-bearing capacity

——The new structural design can evenly distribute the stress points to different axles, greatly increasing the load-bearing capacity.

o Small tire wear

——It can reduce the instantaneous friction and slip distance between the tire and the road surface during driving and extend the

service life of the tire.
® Good stability

——VLowering the center of gravity of the vehicle, the left and right wheels beat independently, greatly enhancing the driving stability.

o Higher cost performance

——Simple structure, low manufacturing cost, small installation space, and more convenient maintenance.

40 www.darongjixie.cn

B\, HEERIRENER,

BRE e
Max.Capacity
(T)

REHNE
Leaf Spring
Type
(mm)

TEERRERIE

Focus on High Quality Axle Manufacturing

MR EE R EE HhEE
Spring Centre  Axle Track

(mm) (mm)

RERIPER
Wheel Fixing

EIRIRR P.C.D
Studs(mm) (mm)

DD24-905/660 24 90*18leaves 905 1400 1840 10XM22X1.51SO 335 281 1950
DD24-905/245 24 90*18leaves 905 1400 1840 10XM22X1.51SO 335 281 1850
DD28-900/660 28 120*12leaves 900 1550 1850 10XM22X1.51SO 335 281 2350
DD32-900/660 32 120*17leaves 900 1550 1850 10XM22X1.51SO 335 281 2450
O RIEEFAFREEEZANENEH. RERT O Choose American or German axle and wheel base size according to customer needs
www.daroaxle.com 41




AEIER EinmREREIE
rTw7iT F . N N
DARO GROUP -ocus on High Quality Axle Manufacturing

FESBHE /R

AIR SUSPENSION
SERIES

SHERSZ FRBEH SSBEFN e fEr sgRy vRREV  REE

FHE
Axle Tube

Installation
Height
(mm)

Airbag Offset Carrying
Distance Capacity
(mm) (kg)

Guide Arm  Stand Height
Model (mm)

Upstroke Downstroke Air Bag Size
(mm) (mm) (mm)

EER OHE REEHE

Light weight, liftable, better shock absorption

DRSTFA-GOIX-FB-LO1-N-300 150X 150  Z165-100*56 300 395 100 100 MAX 360 75 13000
e HEFER—AEESR, MTEWABEE. DR51FA-GOLX-FD-L02-N-325 150X150  Z165-100°56 325 420 100 100 MAX$360 75 13000
® HEMRF TEHEHREMERHE, EEERFTEE, RIPEYLE.
@ 1= /\ =S R M/ \ T2 TEIRE
REE/ AZT 'ﬁ\ » FEIRIEED, @ﬂqi@?ﬂf = RS ) N \ DRS1FA-GOLX-FB-L02-N-350 150X 150  Z125-100*56 350 445 85 100 MAX$360 75 13000
® R EAE— A SCINEMS LR, NEEMSE, BORRRMCHNGE, ReEWMERE M.
e Lighter weight DR51FA-GOIX-FB-L02-N-375 150X 150  Z125-100*56 375 470 100 100 MAX (360 75 13000

——The airbag is lightweight, which helps the vehicle reduce its weight.

® Good shock absorption effect
——The air spring has better shock absorption performance, improves driving comfort and protects cargo safety. DR51FA-GO1X-FB-L02-N-400 150%X150  Z125-100*56 400 495 100 100 MAX$360 75 13000
® Less noise

——Using air as the medium, the friction is smaller, and there is almost zero noise during use.
o Flexible lifting DR51FA-GO1X-FA-L02-N-400 150X 150 Z45-10056 400 495 90 100 MAX$360 75 13000

——Can realize single-axis or multi-axis lifting, change the height of the axle, reduce tire and fuel consumption, and improve the

economical use of the vehicle.

O ARERE B GhiR T SHUS B, © Rights of changing product's design and specification are reserved

42 www.darongjixie.cn www.daroaxle.com 43




ZEMEErF

EOFEMEH, miBsEs,

“tREN—BNRESHE, BRARNEMHZH 0N

RHTHRIR), RETSH, NETIE, TEHER. XALES, RHROIXTCIFHIEETT,

Craftsmanship creates classics, quality creates legends.

More than 20 years of continuous humility and enterprising spirit represent Dairong's full devotion to creation.

Keep asking questions, keep searching, keep researching, and keep introducing new things.
Never stopping is our practice of innovation.

10-82631

ABS & 23 A E

ABS sensor and ring gear

\

~

B

Brake Drums

\

LESmRENTIE
Focus on High Quality Axle Manufacturing

MZER. B

Brake Shoe Bracket & Brake Lining

-~

R

Hubs

L EIEE

Camshaft Repair Kit

~

\

MEEERE
Brake Repair kit

\

www.daroaxle.com 45




)“{7k§ﬁE£EJ EHERRERIE

7% BIERE

Bearing Lock washer

N -

\_ /

BohiARE FrhRES i Y S

Automatic slack adjuster Manual slack adjuster Hexagon Headed Bolt

N N

N AN

NItEsE HES E&ECISE

Strong rigidity, high load-bearing capacity and reliable performance

BISIES k= DN

Axle end locknut Hub cap Dust cover REREME — RPREERER, BE. Bl FEETES.

\\ /”’ \\ SFRES/E—EMERNTES, REGHSE, HEEREEE, HNLS.
BEERLE —FEESEENEN, 2E5TSYE, BIMNREE, SaPHEEE.

FOMNEERE— RS, P53, BAEiL. BHEM, EREMES, BEEP.

High-quality raw materials

——Using silicon-manganese spring steel with higher strength, elasticity and hardenability.
Easy to install and maintain

——The structure is simpler, easy to install and use, more convenient to repair and replace, and has high cost performance.
High-intensity heat treatment

——While ensuring high strength, it also improves the toughness of the product. The strengthening and toughening effect is

\ J \ significant, and the comprehensive mechanical properties are better.
Outdoor anti-rust spray paint

——Isolation, moisture-proof, anti-oxidation, anti-corrosion, extending service life and improving protection.

46 www.darongjixie.cn




KESEE BASMmBRESRSNSE
m 2 5 m@ Focus on High Quality Axle Manufacturing

1105+3 110543

482.5 12455 482.5

DR10.20 M2 (BA=F 22*75 WiR#E) DR11.10 424 (E2+k 1375 REE)
DR10.20 TWO-AXLE SUSPENSION (WITH THREE 22*75 LEAF SPRINGS) DR1110 SINGLE-AXLE SUSPENSION (WITH TEN 13*75 LEAF SPRINGS)

10T EXHEBREIR / R 11T EBBER / R

10T AMERICAN SERIES 11T AMERICAN SERIES
SUSPENSION SUSPENSION

RASHR

TECHNICAL PARAMETE

RERS A A* A#HBED (kg)
-~ B Suspension Model (mm) (mm) Carrying Capacity
TECHNICA

DR11.1001 390 360 11000*1

RERS del ' A ; (A*) EHEESD (kg)
Suspension Mode mm mm Carrying Capacit:
P ying -apacity DR11.1002 402 362 11000*1
DR10.2001 381 31 1000072 DR11.1003 415 375 11000*1
DR10.2002 405 375 10000*2 DR11.1004 427 387 11000*1
N DR11.1005 440 400 11000*1

DR10.2003 440 375 10000*2

~ference only)

48 www.darongjixie.cn www.daroaxle.com 49




1138+3 113843

158+3 13605 158 +3

il
i
(i
it
i

77
111

N\
CANY
I
/

©

it = —

DR11.20 M4h24E (ES+k 1375 siR3EE)
DR1120 TANDEM SUSPENSION (WITH TEN 13*75 LEAF SPRINGS)

1T EBBER / R

11T AMERICAN SERIES
SUSPENSION

BRASEHR

TECHNICAL PARAMETERS

RERNS Al Al* A2 A2* AHBESD (kg)
Suspension Model (mm) (mm) (mm) (mm) Carrying Capacity
DR11.2001 440 400 427 387 110002
DR11.2002 440 400 415 375 11000*2
DR11.2003 427 387 415 375 11000*2
DR11.2004 427 387 402 362 11000*2
DR11.2005 415 375 402 362 11000*2
DR11.2006 415 375 390 350 11000*2
DR11.2007 402 362 390 350 11000*2
50 www.darongjixie.cn

113843

LESmRENTIE
Focus on High Quality Axle Manufacturing

1360+3 113843

1360 +5 n 158+3

DR11.30 =2 (F+k 13*75 WiRHE)
DR11.30 TRI SUSPENSION (WITH TEN 13*75 LEAF SPRINGS)

BRASEHR

TECHNICAL PARAMETERS

RERS Al Al* A2 A2* A3 A3* EHEESD (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR11.3001 440 400 440 400 440 400 1100073
DR11.3002 440 400 427 387 415 375 110003
DR11.3003 440 400 415 375 390 350 11000*3
DR11.3004 427 387 415 375 402 362 11000*3
DR11.3005 415 375 415 375 415 375 11000*3
DR11.3006 415 375 402 362 390 350 11000*3
DR11.3007 390 350 390 350 390 350 11000*3

www.daroaxle.com 51




LESmRENTIE
Focus on High Quality Axle Manufacturing

195 +3 — il -
T 195+3 13110 £5
u H
i i
1 1l |
: u - - - - - |
L‘{ I - ~ I I [ = i | i
N * * ~
el S = == S }
N i - N, - = \ 7
f ST- — e S \ S ==
LI T <q == == - g
H -7 == >
5 5! = T S
= —-+ = i m—
_ — H—
i : o

DR13.10 g2 (Adth 16*90 MR E)
DR13.10 SINGEL SUSPENSION (WITH SEVEN 16*90 LEAF SPRINGS)

DR13.20 A2 (Adth 16*90 #WiR#E)
YH13.20 TANDEM SUSPENSION (WITH SEVEN 1690 LEAF SPRINGS)

13T EXBBER / R

13T AMERICAN SERIES
SUSPENSION

BRASEHR

TECHNICAL PARAMETERS

BRASEHR

TECHNICAL PARAMETERS

REES A A* A&HBEH (kg)
Suspension Model (mm) (mm) Carrying Capacity
DR13.1001 370 340 13000*1
DR13.1002 395 365 13000*1
DR13.1003 420 390 130001
DR13.1004 445 415 130001
DR13.1005 470 440 13000*1

52

WWV .’_(W‘[‘lf(‘/\”\\}:‘,ﬂx\(‘.(,ﬂ

RERS Al Al* A2 A2* H A#HEeN (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR13.2001 380 340 370 330 135 130002
DR13.2002 400 360 390 350 155 130002
DR13.2003 430 390 420 380 185 130002
DR13.2004 460 420 450 410 215 130002
DR13.2005 480 440 470 430 235 130002
DR13.2006 500 460 490 450 255 13000*2
DR13.2007 520 480 510 470 275 130002

www.daroaxle.com

53




ANEEIED LB BRENHIE
rTw7iT F . N N
DARO GROUP ocus on High Quality Axle Manufacturing

- 965 +3 o
- 495 +3 o
1135+3 1310+3 1140+3
=
=
=
| —
DR13.30 =3h&E (E2+H 16*90 PIRHE) DR13.20 FshaiE (BdthH 16*90 PiREE)
DRI13.30 TRI SUSPENSION (WITH TEN 1690 LEAF SPRINGS) YH13.20 TANDEM SUSPENSION (WITH SEVEN 1690 LEAF SPRINGS)
TEREER / R ETEBEER / R
1 3T %I %H*lu.\m /N | 16T - JEN\ TR /N I
FARES#HE FARESH#HE
TECHNICAL PARAMETERS TECHNICAL PARAMETERS
BHEUS Al A1* A2 A2* A3 A3* H ZHEEN (kg) BERS Al Al* AHEEN (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) (mm) (mm) Carrying Capacity Suspension Model (mm) (mm) Carrying Capacity
DR13.3001 380 340 370 330 365 325 135 130003 DR16.1001 403 373 16000*1
DR13.3002 400 360 390 350 385 345 155 13000*3 DR16.1002 428 398 16000*1
DR13.3003 430 390 420 380 415 375 185 13000*3 DR16.1003 453 423 1600071
DR13.3004 460 420 450 410 445 405 215 13000*3 DR16.1004 478 448 1600071
DR13.3005 480 440 470 430 465 425 235 13000*3 DR16.1005 203 413 1600071
DR13.3006 500 460 490 450 485 445 255 13000*3
DR13.3007 520 480 510 465 505 465 275 13000*3 ONMAE0N M INM B0

54 WWV .’.(w‘zir(mgﬂxi(‘.uw www.daroaxle.com 55




1135 +3

1140 +3

49543 310 £5

47043

Al(Al%

16T ENBBER / R

16T AMERICAN SERIES
SUSPENSION

Ra(h2) |

DR16.20 P42 (BN F 16*90 sNR3EE)
DR16.20 TANDEM SUSPENSION (WITH NINE 16*90 LEAF SPRINGS)

TECHNICAL PARAMETERS

RASHR

sERs Al A1* A2 A2* H AHEEN (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR16.2001 433 403 416 386 150 16000*2
DR16.2002 473 443 456 426 190 16000*2
DR16.2003 493 463 476 446 210 16000*2
DR16.2004 513 483 496 466 230 16000*2
DR16.2005 533 503 516 486 250 16000*2
DR16.2006 553 523 536 506 270 16000*2
DR16.2007 583 553 566 536 300 16000*2

56 www.darongjixie.cn

LESmRENTIE
Focus on High Quality Axle Manufacturing

DR16.30 =424 (BN f 16*90 IREE)
DR16.30 TRI SUSPENSION (WITH NINE 16*90 LEAF SPRINGS)

RASHR

TECHNICAL PARAMETERS

BERS Al A1* A2 A2* A3 A3* H A#HEeH (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR16.3001 443 413 438 408 421 391 150 16000*3
DR16.3002 473 443 458 428 451 421 180 16000*3
DR16.3003 503 473 488 458 481 451 210 16000*3
DR16.3004 523 493 508 478 501 471 230 16000*3
DR16.3005 543 513 528 498 521 491 250 16000*3
DR16.3006 563 533 548 518 541 511 270 16000*3
DR16.3007 593 563 578 548 571 541 300 16000*3
www.daroaxle.com 57




40543

965 43

17T ERHBEER / R

17T AMERICAN SERIES
SUSPENSION

-
I
ul

113543

495 +3

1310+

1140 +3

LESmRENTIE
Focus on High Quality Axle Manufacturing

DR96.20 FihEE (BdLA 13*100 #iRGEE)
DR96.20 TANDEM SUSPENSION (WITH NINE 13*100 LEAF SPRINGS)
RAS#HR BRASEHER
TECHNICAL PARAMETE TECHNICAL PARAMETERS
RERS Al Al* AHEED (kg) = o
- : : RERS Al Al* A2 A2* H AEEEN (kg)
SR A0 (mm) (mm) R e 15 Suspension Model (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR96.1001 415 375 17000*1
DR96.2001 424 384 415 375 142 170002
DR96.1002 440 400 17000*1
DR96.1004 490 450 17000*1
DR96.2003 474 434 465 425 192 170002
DR96.1005 515 475 17000*1
DR96.2004 499 459 490 450 217 17000*2
160N.M 1-160N.M DR96.2005 524 484 515 475 242 17000*2
58 www.darongjixie.cn www.daroaxle.corr 59



KESEE BASMmBRESRSNSE
m 2 m@ Focus on High Quality Axle Manufacturing

DARO GROUP
——

1135 +3 131045 [140+3 ‘ 1135+3 1140+3
49543 1310[+5 1310 +5 47043
—— ==t
R

> H == =
- = E '—] 14

i 1

DR96.30 =4#h2# (Ec/LkA 13*100 $WARG#E) DR35.30 =2 (fd+=k 16*120 fWiR5#E)
DR96.30 TRI SUSPENSION (WITH NINE 13100 LEAF SPRINGS) DR35.30 TRI SUSPENSION (WITH THIRTEEN 16*120 LEAF SPRINGS)

17T ERHBEER / R 35T ETBEER / RSl

17T AMERICAN SERIES 35T AMERICAN SERIES
SUSPENSION SUSPENSION

RASHR

TECHNICAL PARAMETERS

RASHR

TECHNICAL PARAMETE

REAS * * * FHEEN (kg) BERS Al A2 A3 H #=HEEN (kg)
Suspension Al Al A2 A2 A3 A3 H Carryin i i i
IVFI)odel (mm) (mm) (mm) (mm) (mm) (mm) (mm) Capgciti Suspension Model (mm) (mm) (mm) (mm) Carrying Capacity
DR35.3001 455 445 440 115 3500073
DR96.3001 433 393 424 384 415 375 142 17000*3
DR35.3002 475 465 460 135 35000*3
DR96.3002 458 418 449 409 440 400 167 17000*3
DR35.3003 525 515 510 185 350003
DR96.3003 483 443 474 434 465 425 192 17000*3
DR35.3004 51 565 560 235 35000"3
DR96.3004 433 393 424 384 415 3 142 17000*3
g head is 120N.M.-160N.M
DR96.3005 458 418 449 409 440 400 167 17000"3
www.daroaxle.com 61

60 www.darongjixie.cn




L3+3 1245 1443
L1+3 12+ 245 L1+3
= | i | =
N & | N 2 | =
iﬁ <[ ! ﬁ =t ! ;— “ 8
/| 1 U == N\

DR16.32 =42 (BEHhk 16*90 sWR3EE)
DR16.32 TRI SUSPENSION (WITH NINE 16*90 LEAF SPRINGS)

16T REHBIREHE / R

16T REVERSE MOUNTED
SERIES SUSPENSION

RASHR

TECHNICAL PARAMETE

BHES L1 L2 L3 L4 L5 A#HEeH (kg)
Suspension Model (mm) (mm) (mm) (mm) (mm) Carrying Capacity
DR16.3201B 495 1310 1135 1140 470 160003
DR16.3202B 495 1360 1160 1165 470 16000*3
DR16.3203B 495 1500 1230 1235 470 1600073

ON.M
nnecting head is 120N.M.-160N.M

62 www.darongjixie.cn

1320+3 1360 +5

LESmRENTIE
Focus on High Quality Axle Manufacturing

1330 +3

640+3 1360 +5

1360 +£5

650+3

RI\BEBEHE / Rl

GERMAN SERIES
SUSPENSION

A (%)

DR14.30 =42 (Fc+H 16*100 MiR3HE)

DR14.30 TRI

SUSPENSION (WITH TEN 16100 LEAF SPRINGS)

RASHR

TECHNICAL PARAMETERS

i
gims A A . AN (kg).
Suspension Model (mm) (mm) Specifications Carrying Capacity
DR14.301/1G 497 467 100*14-14 160003
DR14.301/1E 541 511 100*12-14 16000*3
DR14.301/2E 529 499 100*12-13 16000*3
DR14.301/3E 517 487 100*12-12 1600073
DR14.301/4E 505 475 100*12-11 16000*3
DR14.301/1F 533 503 100%16-10 160003

M
VI.
120N.M.-160N.M
1.-1 VI,
V.-900N.M

e numb

www.daroaxle.com 63




LESmRENTIE
Focus on High Quality Axle Manufacturing

SHERE £:X50. . XL

Front. Middle. Rear Hanger(American)

\

=

Leaf Spring

~

_

R

| N

RATZSHE EENX. AETET

Lifting Air Spring Fixed and Adjustable Linkages

N -

|

EOSHEEH, mhdisEs.
" HREN—ARNRESHER, BEARWSEYNEE O N
AETERR], AUTTH, FETEDE, RETER. KALS, EHAITEIFAIEIT,

Craftsmanship creates classics, quality creates legends.

More than 20 years of continuous humility and enterprising spirit represent Dairong's full devotion to creation.
Keep asking questions, keep searching, keep researching, and keep introducing new things.

Never stopping is our practice of innovation.

\_ /

www.daroaxle.com 65




U BliEie
U-Bolt

N

R4

Equalizer Axis

N

TRRE
Bearing Air Spring

ER

Platen

N

SHE
Oriented Arm

-

= RIER

Suspension Base

-

66 www.darongjixie.cn

mHE
Lugs

N

EBS EBHRE

EBS Solenoid Valve

-

TEERRERIE

Focus on High Quality Axle Manufacturing

+1R

Card Board

[EES

Valve

www.daroaxle.com

67




ISHERE REESR KENE

Solid structure, simple operation, strong load-bearing capacity

EERE—IIEMANR, BE08, RERE, EAEAS.
REGE=8—4%ER, AR, EfRSE.
TEEF—RBENS, MEMNER.
ZAMA—BMEMEER, ERZER, EREFHK.

Fixed base
—— Thickened and enlarged side plates, smooth welding, stable and reliable, and more reliable to use.
Universal flange
—— screw thread connection, stable to use and easy to replace.
Piston rod
———electroplated to prevent rust, wear and corrosion.
Durable
——High-frequency quenching has high hardness, the support is not easily deformed and has a long
service life.

avEEREan

LESmRENTIE
Focus on High Quality Axle Manufacturing

LR DR T -
— ARRCRRER
. [ by
e = = '
L . 5. ni | G — ]
W iR LR
RASEHR
TECHNICAL PARAMETE
= it R
ne SHREELS 127372 D s ARG BENF
Model erl)']Odel Lifting stroke D height A Bearing load Static load
DRD280101T T 430 790 28t 70t
DRD280102T T 480 840 28t 70t

ngto customer requirements

www.daroaxle.com 69




W R LR

LESmRENTIE
Focus on High Quality Axle Manufacturing

W iR L1

RASHE
L P

AMETERS

= E =
ws SHRREES. 1A D Pioeiniom AROH B
Model pr?qodel Lifting stroke D height A Bearing load Static load
DR1601T T 320 660 16t 32t

PEEIREE P B

70 www.darongjixie.cn

15 =43

us Simport base EATED Mnstalation A8 panT

Model el Lifting stroke D height A Bearing load Static load
DR220001S S 430 790 28t 70t
DR220002S S 480 840 28t 70t

ommy/rev
Imm/rev
ndblast ng ing to customer requirements
t

be pr
ard or L board
lding

round or square

www.daroaxle.com




T2

e -
o B
:
W iR W LR
1= e
Model el Lifting stroke D height A Bearing load Static load
DR1602T T 470 802 16t 32t

ocessing, spraying ;W‘GSUL ;JCW(JET color can be accord ng to customer requirements

www.darongjixie.cn

rd or L board

[f welding

LESmRENTIE
Focus on High Quality Axle Manufacturing

M) "m0 (A

31N _ M=
\ ¢ = o b ,
- I[')J. - - il - o
B T
==y ' -
Vi = =]
- TN - - Bl
W R L1

RASHR

IETERS

LP

= s
me R 1A D ey AERT BERE
Model pr?mdel Lifting stroke D height A Bearing load Static load
DR28N0101T T 430 792 28t 70t
DR28N0102T T 480 842 28t 70t

7.5mm/rev
Imm/rev
dblastir

r, color ca ding to customer requirements

to customers req

an be prov
ard or L board
ding

© The connecting rod can be round or square

www.daroaxle.com 73




W iR

LR

RASHR

CHNICAL PARAMETE

= =
me SHRREES. 1871312 D e ARAH BRAE
Model er:qodel Lifting stroke D height A Bearing load Static load
DRO5NSO01 T 270 640 5t 8t
DRO5NS02 T 430 790 5t 8t

74

www.darongjixie.cn

92mm/rev

on board can choo

TEEmRERIE

Focus on High Quality Axle Manufacturing

%% ! 10 TREPERED i " (50
A ] ] oy
(] .% [' il!i'?:ﬁl '1 # 2|
|1s0_|{
25
VARE\VE
! | | )
AN\
W LR
RASEHR
= METERS
1= At
us S D Anstaliation i BEnE
Model e Lifting stroke D height A Bearing load Static load
DR28N0201T T 430 792 28t 70t
DR28N0202T T 480 842 28t 70t

B ES S
S AR ST

est

www.daroaxle.com

according to customer requirements

75




ATED
i Focus on High Quality Axle Manufacturing

B

EOFRHEN, REBEES.
—HREN—ANRESHE, EATIHEINS SR
RURIRIE), FUTH, TV, TR, JORLS, ERIITOHOET.

Craftsmanship creates classics, quality creates legends.

More than 20 years of continuous humility and enterprising spirit represent Dairong’s full devotion to creation
Keep asking questions, keep searching, keep researching, and keep introducing new things.

Never stopping is our practice of innovation.

Wik L R

®$11140.0s5

$89+0. 05

RASHR

NICAL PARAMETERS

>

= = —
us Sipt e D Anstalation i man
Model ot Lifting stroke D height A Bearing load Static load
DRD280201T T 430 790 28t 70t
$150+0. 1
DRD280202T T 480 840 28t 70t —0. 03

©200-0. 08

8.67mm/ ¥

;d ng to customer requirements ¢260 i O 8

76 www.darongjixie.cn




LESmRENTIE
Focus on High Quality Axle Manufacturing

1= WS ERSHIAE
%JE}J%E Dual chamber model and specifications
Air Chamber
o 1712 WATEKE EFTIBL IR TRARETIRLY S REIEFTRA E2 (kg)
\ Mo:—el (mm) Push rod thread Push rod Air nozzle Installation screw Angle between clamp Wfi h%
Stroke length thread thread thread and installation screw g
T2024 64 50+4 M16*1.5 M16*1.5 M16*1.5 90° 7.78
T2424 64 206t4 5/8" -18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 8.10
T2424EY4 64 245+4 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 8.10
T2424EB1 64 100t4 M16*1.5 M16*1.5 M16*1.5 90° 8.00
K T2430 64 206+4 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 90° 9.20
BSER SN
Single chamber model and specifications T2430MB 64 188+4 M16*1.5 M16*1.5 M16*1.5 0° 9.20
WS 712 (mm) WATIESUKE HEATIRLY SIEERL RIRIRETIRA S RRIBETRA =
Mo:ij_el Sfroke Push rod thread Push rod Airnozzle Installation screw Angle between clamp and (kg) T2430MB1 64 209t4 M16*1.5 M16*1.5 M16*1.5 45° 9.20
length thread thread thread installation screw Weight
T9 44.5 130+3 1/2"-20UNF 1/4” -18NPTF  7/16” -14UNC 45° 1.90 T2430EB1 64 207t4 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 9.20
T12 44.5 1303 1/2"-20UNF 3/8” -18NPTF  7/16” -14UNC 45° 2.30 T2430LEB 76.2 206+4 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 9.50
T16 57 160+3 1/2"-20UNF  3/8” -18NPTF  7/16” -14UNC 135° 3.00 T2430LMB  76.2 209+4 M16*1.5 M16*1.5 M16*1.5 45° 9.50
720 57 200£4 5/8" -18UNF2A 3/8” -18NPTF  5/8” -11UNC2A 45° 4.00 T2430LMBL 762 209+4 M16*15 M16*15 M16%15 0° 9.50
+ * * * o
T20MB > 20024 M1 M1 MIETLS 45 400 T2430T 68 206+4 5/8"-18UNF2A 3/8” -18NPTF  5/8” -11UNC2A 45° 9.40
T20L 76 237+5 M16*1.5 M16*1.5 M16*1.5 45° 4.10 . ) )
T2430LS 68 206+4 5/8" -18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 9.50
T24 64 206+4 5/8" -18UNF2A 3/8” -18NPTF  5/8” -11UNC2A 45° 4.10
T3030 64 255+4 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 9.50
T24MB 64 209+4 M16*1.5 M16*1.5 M16*1.5 45° 4.10
T3030YB 64 255+5 M16*1.5 3/8” -18NPTF M16*1.5 40° 9.50
T24L 75 200%3 M16*1.5 M16*1.5 M16*1.5 0° 4.20
T3030EY2 64 209%5 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 9.40
T24LS 80 1863 5/8" -18UNF2A 3/8” -18NPTF M16*1.5 45° 4.20
T3030MB2 64 255+5 M16*1.5 M16*1.5 M16*1.5 45° 9.5
T30 64 255+4 5/8" -18UNF2A 3/8” -18NPTF  5/8” -11UNC2A 45° 4.80
T3030MY1 64 188+5 M16*1.5 3/8” -18NPTF M16*1.5 0° 9.50
T30MB1 64 255+4 M16*1.5 M16*1.5 M16*1.5 45° 4.80
T HP 4 255+4 "-18UNF2A " -18NPTF " -11UNC2A 45° .
T30EY2 64 190£3 5/8"-18UNF2A 3/8” -18NPTF 5/8” -11UNC2A 45° 4.70 3030 6 > 5/8"-18U 38 8 5/8 UNC ° 930
T30MB 64 50 M16*1.5 3/8” -18NPTF M16*1.5 45° 4.60 T3030MB 64 50 M16*1.5 3/8” -18NPTF M16*1.5 0° 9.50
T30MY 64 50 M16*1.5  3/8” -18NPTF M16*1.5 45° 4.60 T3030MY 64 188+4 M16*1.5 3/8” -18NPTF M16*1.5 0° 9.50
78 www.darongjixie.cn www.daroaxle.com 79




KRITR

Lamps and Lanterns

N

LESmRENTIE
Focus on High Quality Axle Manufacturing

E

Steel Ring

N

srfil HaR HE
Number Describe Quantity

LR B

1 IP55 %4k, GBnAE, & CCCEIEINEER 1=
Wire harness assembly
IP55 level, GB standard, in line with CCC vehicle certification requirements
ECP $2hEHTETU A7k Hh e

) IP67 &4% , GB/T 5053, 2 1A
ECP spiral squeeze waterproof socket :
IP67 rating, GB/T 5053, black
2 ﬁﬂ?ﬁﬁfﬁﬂ .

3 24VDC, A EBIEIEIRINEE , PVC 38 35 , AMP Ei%2s , HE 24
2 inch round front position light
24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, white
2 TR BT

4 24VDC, A EBEISIEINGE , PVC 335 EE , AMP 1EH5288 , 418 24
2 inch round rear position light
24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, red
4~TKAFIHNT

5 24VDC, B EBEIRETNAE , PVC IR R , AMP 1515238 , IRIA G 104
4inch rectangular side light
24VDC, Pulse Voltage Filtering, PVC Hard Mounting Base, AMP Connector, Amber
&Hﬁﬂﬁ’éﬁ

6 24VDC, BB RIS K INEE , PVC BERRREREE , AMP &Ef2: , A& 24
Rectangular license plate light
24VDC, pulse voltage filter function, PVC hard mounting base, AMP connector, white
4#E%%ﬂﬂ . N

7 24VDC, BAEB[EISIEINGE , PVC S8 3L A AMP 1538 , IRIAE 24
4 inch round turn signal
24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, amber
ASTEIFATE [ RZELT

8 24VDC, BXAEREIRIKINAE , PVC S R REE , AMP 1528 , 4168 24
4-inch round driving/brake light
24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, red
4 TR LT .

9 24VDC, B EBIEIEIRINEE , PVC 38 35 , AMP Ei%2s , A& 14
4inch round reversing light
24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, white
ASTEFEET

10 24VDC, A EBEISIEINGE , PVC 3 3L , AMP 1EH%288 , 4168 14

4-inch round rear fog light

24VDC, pulse voltage filter function, PVC flexible mounting base, AMP connector, red

80

www.darongjixie.cn

g {REE (mm) FLFL (mm) SRE (mm) 124270 (mm) [l
Size offset Center hole P.C.D Bolt hole Tire
8.5-20 175 281 335 1026 12.00-20
8.5-24 180 281 335 1026 12.00-24
8.00V-20 173 281 335 10726 11.00-20
7.50V-20 165 281 335 10%26 10.00-20
7.50V-20 165 220 285.75 1026 10.00-20
7.00T-20 9.00-20
6.50-20 8.25-20
6.50-16 7.50/8.25-16
6.00G-16 7.00-16
5.5Fx16 64 102 161 6*20 7.50-16
17.5x6.00 127 160 205 6*21 8R17.5
17.5x6.00 135 164 222.25 6*32 8R17.5
17.5x6.00 135 176 225 10726 8R17.5
17.5x6.00 118 150 208 5*32 8R17.5
17.5x6.75 135 160 205 6*21 9R17.5
17.5x6.75 127 164 222.25 6*32 9R17.5
17.5x6.75 153 176 225 1026 9R17.5
17.5x6.75 135 176 225 10726 9R17.5
17.5x6.75 142 221 275 824 9R17.5
19.5x6.00 135 164 222.25 6*32 8R19.5
19.5x6.00 135 221 275 8*24 8R19.5
19.5x6.75 145 164 222.25 6*32 9R19.5
19.5x6.75 145 221 275 8*24 9R19.5
19.5x6.75 152 221 275 8*24 9R19.5
19.5x6.75 140 163 222.25 6*32 9R19.5
19.5x6.75 140 214 275 8*32 9R19.5
19.5x7.50 152 221 275 8*24 10R19.5
19.5x8.25 165 176 225 10726 11R19.5
19.5x8.25 165 221 275 8*24 11R19.5
22.5x7.50 169 281 335 10%26 10R22.5
22.5x7.50 165 281 335 10*26 10R22.5
22.5x8.25 171 281 335 10%26 11R22.5
22.5x9.00 165 281 335 10*27 12R22.5
22.5x9.00 0 281 335 10%26 12R22.5
22.5x9.75 180 281 335 10*26 13R22.5
22.5x11.75 0 281 335 10*26 385/65R22.5
22.5x11.75 120 281 335 10*26 385/65R22.5
22.5x13.00 0 281 335 10*26 425/65R22.5
22.5x14.00 0 281 335 10*26 445/62R22.5
24.5x7.50 165 281 335 10*26 10R24.5
24.5x8.25 168 281 335 10*26 11R24.5
24.5x9.00 175 281 335 10*26 12R24.5
www.daroaxle.com 81




el

Aluminum Rim

N

5 ERRY oght Mixload Mixload mset Dok  ACD. sud Chodl TEES sz
/kg /kg /lbs /mm /mm /mm /mm
DRO51 22.5X9.0 246 4125 9094 152.5 23.5 335 26.75/32.5 2812  T0MS-7 315/80 R22.5
DR044  22.5X9.0 26.2 4125 9094 154 24.5 335 26.75/32.5 2812  T0MS-7 315/80 R22.5
DR024 22.5X8.25 24 3650 8047 144.5 24 335 26.5/32.5 2812  70MS-7 295/80 R22.5
25 3550 7826 137 25 275  26/24/30.5 221.1 V3-20-1AA  275/80R22.5
DR033  22.5X7.5
24.7 3350 7385 138 23 275  32.5/26/24 221.1 V3-20-1AA  275/80 R22.5
DR045 22.5X6.75 22.7 2800 6173 128 22 275 325 221.1 V3-20-1AA 255/80 R22.5
DRO36 19.5X7.5 175 3000 6614 134 21 275 24.5/32.5 221.1 V3-20-1AA  285/70R19.5
DR047 195X7.5 182 3000 6614 1335 22 275 30 2211  T0MS-7  285/70R19.5
DR038 19.5X6.75 17 2500 5512 120 21 275 24.5 222.1 V3-20-1AA  245/70R19.5
DR042 17.5X6.75 14.7 2000 4409 120 21 222.25 325 162.2  V3-20-1AA 9.5R17.5
205 26/21 161
DR034 17.5X6.0 13.9 1750 3858 109 19 V3-20-1AA 9.5R17.5-18
222.25 26 162
DR048 17.5X6.0 14.9 1750 3858 109 19 222.25 26 162 TOMS-7 9.5R17.5-18
DR025 16X5.5K 9.4 1500 3307 101.5 14.5 190 20.5SR22 140 PVR181 215/85R16
DRO31 16X5.5K 9.3 1500 3307 101.5 14.5 190 20.5SR22 140 PVR181 215/85R16
DR043  16X5.5K 9.0 1500 3307 101 14.5 222.25 24 161 PVR181 215/85R16
DR049  16X5.5J 9.0 1500 3307 101 15 222.25 24 161 TOMS-7 215/85R16
DRO37  16X6.0J 9.4 1500 3307 105 15 203.2 21 140 PVR181 7.00R16TL14PR

82 www.darongjixie.cn

LESmRENTIE
Focus on High Quality Axle Manufacturing

wha

Tire

N

e =4 i%’ffgf“ é@%ﬁﬁ Egﬁﬁﬁ #EE‘ZSE' Eﬁmﬂﬁmﬁﬁ Eﬁnﬁnﬁ@. *E%ﬁﬁﬁg

Specification Hierarchy Ll RIim v Corresponding Inflatable Inflated Outer  Guide Pattern
Air Pressure ___ Section Width Diameter Depth
6.50R16LT 10 L 5.50F 1060/925 670/670 185 750 10.50
7.00R16LT 14 L 5.50F 1320/1180 T70/770 200 775 11.50
7.50R16LT 12 M 6.00G 1400/1250 670/670 215 805 11.50
7.50R16LT 14 M 6.00G 1500/1320 T770/770 215 805 11.50
8.25R16LT 12 L 6.50H 1550/1360 560/560 235 855 11.50
8.25R16LT 14 L 6.50H 1700/1500 670/670 235 855 11.50
8.25R16LT 16 L 6.50H 1800/1600 T70/770 235 855 11.50
9.00R16LT 14 L 6.50H 1950/1700 670/670 255 890 14.50
9.00R16LT 16 L 6.50H 2120/1850 T770/770 255 890 14.50
235/7T5R17.5 14 L 6.75 1850/1700 760/760 233 97 13.00
235/T5R17.5 16 J 6.75 2000/1850 830/830 233 797 13.00
9R22.5 12 M 6.75 2060/1950 720/720 229 974 14.50
9R22.5 14 M 6.75 2240/2120 830/830 229 974 14.50
10R22.5 14 M 7.50 2575/2430 790/790 254 1019 15.00
10R22.5 16 L 7.50 2800/2650 900/900 254 1019 15.00
11R22.5 16 M 8.25 3000/2725 830/830 279 1054 16.00
12R22.5 16 L 9.00 3350/3075 830/830 300 1085 17.00
12R22.5 18 L 9.00 3550/3250 930/930 300 1085 17.00
295/80R22.5 16 M 9.00 3350/3075 830/830 298 1044 17.00
295/80R22.5 18 M 9.00 3550/3250 900/900 298 1044 17.00
315/80R22.5 18 M 9.00 3750/3450 830/830 312 1076 17.00
385/65R22.5 18 K 11.75 4250 830 389 1072 16.50
385/65R22.5 20 J 11.75 4500 900 389 1072 16.50
385/65R22.5 18 K 11.75 4250 830 389 1072 13.00
385/65R22.5 20 J 11.75 4500 900 389 1072 13.00

www.daroaxle.com 83




TEERRERIE

Focus on High Quality Axle Manufacturing

F5|5H
King Pin

== )
Fifth Wheel

50/90 5| HrEiEEnzt
Fifth Wheel2"/3.5 " Longtugmal Swing&Transversal Swing
Series

prus RESE EREE  o@ gmes  sE
Products Mﬂg"g?]?g ImL%%saed D Value Picthing Net Weight

Model (mm) (Ke) (KN)  Swing (Kg)

DR- o 8mm-110Kgs
QL50-150 150 < 30000 152 15°  Jomm-150 &s
DR- o 8mm-110Kgs
Qus0-172 172 30000 152 15°y00mmT50KEs
DR- o 8mm-110Kgs
QL50-185 185 < 30000 152 15 {omm-150 &

) 50/90 Z5|E HmAiEzh
Fifth Wheel 2 "/3.5" Longtggmal Swing & Transversal Swing
eries

mome REBE SEAE [n A0E

50 123% 90 2% 50 #Fg 90 #fg
50 welding 90 welding 50 assembly 90 assembly
Hg Aotk E DfE A FeiREE D&
type skid plate thickness D-value type skid plate thickness D-value
50# 10 96 50# 10 96
90# 10 88 90# 10 88
90# 12 88 90# 12 88
S N
Air Tank \
- BxRE
AE (L) R~ (mm) 2E . . .
Capacity Dimensions Structure With or WI!H;‘;;Ut Lifting -
“ EFE27L T
40 6807280 Trailer 2 Holes No
* EFE25 I
43 7007280 Trailer 2 Holes No
* EE27L =
43 8507280 Trailer 2 Holes Yes
“ EFE37L ]
43 8507280 Trailer 3 Holes Yes
\ BE 37 % K
43 7007280 Trailer 3 Holes No
* EFE37L a8
40 8307280 Trailer 3 Holes Yes
X EFE37L .
20 7007300 Trailer 3 Holes No
* EE3FL =
50 8007300 Trailer 3 Holes Yes
* EFE37L a
60 8507320 Trailer 3 Holes Yes
* EFE47L T
60 7007320 Trailer 4 Holes No

84

www.darongjixie.cn

Mounting Imposed -
Pﬁggglts Height Load D(\Il(z",\lll)‘e Picthing Net(\ll(\le)lght
(mm) (Kg) Swing g
DR-QL90 < 30000 170 15° 80mm-1150Kgs
10mm-150Kgs
115805//127030/ 12mm-190Ksgs
14mm-200Kgs
DR-QL50 < 30000 170 15°  16mm-210Kgs

|

383

50/90 S5iEZE5| B HRIEEHTU .
Fifth Wheel 2 "/ 5" Cast Longtuginal Swing

paneg ZEEBE BANE g @mm =8

Products Mﬂg::gtr']?g ImL%c;sded D Value Swing Weight

Model (mm) (Kg) (KN)  Angle (Kg)

DR-38C-150 190 < 36000 260 12°/15° 155

DR-38C-185 1250 < 36000 260 12°/15° 158

www.daroaxle.com 85




HIEN[E
Brake Pipe
= 5MZ (mm) p EE (mm) IERE TRED
Mgéc?el Outer Inr@i%ggqnql)ter Wall Operan:(ling Work
Diameter Thickness Temperature Pressure
PA12 12 9 1.5 -30°-100° 4.0Mpa
PA16 16 12 2 -30°-100° 4.0Mpa
Rimds
Rope Tightener

\

SRajESK

Braking Gas-way Joint

\

Hha T FEas

Spare Tire Lifter

iR
Mudguard

g

Twist Lock

N

86 www.darongjixie.

cn

PAE

MEAZ DT ISR EBRSS (5o
ERRSNRBH2E, TR 24h TR, BUKE. SMBRSEE,
IRPBEMHREER, REGEEREFR.

Create the ultimate service experience with craftsmanship.

Darong after-sales service outlets are located all over the country, and customer service is open 24 hours a

day, establishing a timely and efficient service barrier.

Allow customers to easily find after-sales service and quickly handle any after-sales issues.






